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I "ymwn: dispute N "1/n" regarding status of 91 which, after np*yn, proves to be a narv
a  n™:not NY’Yan nyaa RNYn
b M RNV
i Argument (p"):
1 7z if a nnna, which has more stringent 19721 kMY (RWNY Yan), can have its na7v-status removed by nvNY
(a) Then certainly: 91, which has more lenient n%’21 kMY, can have its na™v-status removed by no'nY
2 2 paxjust as no'NY makes it fit for consumption and removes 197V NRMY
(a) Similarly: np>on, which makes it fit for consumption, will remove n8™v NkMY
it~ Counter (»oy *7): employ limitation of 17— index is nY’NY = only NY’NY can remove N7V NRMY, not NP*on
II  Analysis:
a  Question: n™ must accept V7, as it is RnPMRT (v. 1)
b  Answer: " has another verse which “trumps” 17—
i V2:compares nnnaand gy
1 Which cannot: be for n%21 nkmv (as they are opposite in consequence)
2 Must be: to compare np*on to no'nw; that which makes it fit for eating removes namv-status
¢ Source for a7 ’1. v. 3 invokes n% 1) and naMv
i Exegesis: if a n1v lives, n%11 already mentioned (when it dies); if it will die, already considered n%21 (cf. an Pon)
1 Rather: N0 is mentioned to teach that even if slaughtered properly, still xnon
2 Challenge (»arw 73): v. 3 (which mentions both na01 n%21) = the a%n of a 19V is 711V > the rest is XNV
(a) However: 21 infers from (yn) V1’0 in v. 4 that a noNYw N9V is not XN
3 Rather: namvin v. 3 is there to limit n2%n to n7nv Nnna (i.e. only a nnna that has a na™v p7is included)
(a) Similiarly: in re: v. 5 (ny"9an ma NkMY), N9 mentioned to exclude 8NV 9I1Y — no NYYan N1 NRMY
(i) /7 7 infers that (explicitly) from n%»a1 (v. 5)
1. Method: only applies to one whose Mo'R is due to n%21, not RnoV QY
(ii) Challenge: read N9V to extend nrMV to all of NRNY NN — including a%n
(b) Rather: narv used to extend rule of 171V 19V 25N to N
(i) Justification: R™70 rule only applies to animal where 29n is otherwise 7108; not 'n - 5"np
(c) Challenge: mn is unique — no distinction between 9w1/25n (permitted); same with nknv (both 1oR)
(i) Meaning: 1mRN XY 5198 doesn’t apply just to a5n
4 Rather (»2a8): n90 needed for itself — X0 it’s like NNV (0NN OR) = 29N is RNV, therefore H"np it's 1NV
(a) Challenge: if so, v. 5 also needed — X710 just as RNV NP is D’NN NOR, s0 is N9V NY Dneither is Rnovn - H"Pp
(b) And: we can’t infer N9V from NRNY; NRNY was never fit; N9V was fit
(i) And even: a nomv from birth, which was never fit is not a model - it’s type was fit (x3>8 n1n1)
5 Rather (’¥37): the nmin enforced 023 MR and 1970 MR atop 25N MR
(a) Justification: if we only learned n%721 — 8”70 because it is Rnon — but not na*v - H"np
(i) And:if we only learned n90 — X"10 because it is D»nn NOR — but not n%a1 - 5"np
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d  p7and amim .
i p”rreads nov (v. 5) to exclude nv'nw done inside
ii A7 7 infers that from second mention (v. 6)
1 »”: uses that second mention to exclude Rnv 1y from nY’%an N2 NRMOV
2 »”rinfers that from n%21 (v. 5 — per above)
(a) »”r reads n%21(v.5) as teaching that 1w to become ny’*Yan nraa 8LV is NY7IR NPV —i.e. N1
(b) Challenge: why not infer that from earlier pyo9, where 1m558n XY Y38 puts it in that context
(i) Answer: both needed — one for n99R MYV (amount), one for 8”8 15 N1 nYIR (duration)
(ii) Justification: since NY9an na nkML is W17TN, perhaps it applies even if eaten over a longer time — 5"np
I xn»ainterpreting v. 3 (D2n2 NN)
a 19"V 25M %21 29N: refers to a NNV NNNA
i Argument: the referent is 11V as a result of NvY'NWY and its 25N is 19NV > must be NNV NPNa
ii ~ Counter-proposal: the referent (see below) is 1110 from n%21 NRMY, which is &NV (1Y) > must be RNV NHN2
iii  Resolution: we could go either way, therefore "na70” indicates that it applies to an animal that N0 in its kind
1 Excluding: nRno nnna
2 Suggestion: perhaps we should exclude nxknv nnna but include n'n (that its a%n is 11nv), as it has na»wv?
(a) Block: ymYarn R 99K — only applies to animals where 9wa and 2%n are not treated the same - n'nis out
(b) Challenge (Xax 92 3pp> *9): if so, only N7V N2 nYa1 has nY2) NRMY —not NRNY NN NY2)
(i) Answer (837): the R0 (see counter-proposal above) referred to birds, not animals
IV Analysis (& 'nan) of extent of n"’s “leniency” (allowing njp’on to be n21 nkMVN IVN)
a  pnr /7 n" only applied it to prnn (that could be offered) — not on oya
b &7z even min Y3, even other fowl (that aren’t offered — e.g. geese and chickens)
¢ Question (77 77): would this extend to a goat as well? (if he did na»y, akin to np*on)
i Lemmal: n™y would only apply it to fowl
ii ~ Lemma2: perhaps he applies it to all animals
iii  Reported in 523 (by »»°7 73): »aR then challenged —if so, N9y n%y should be MV
1  Answer:indeed it is, based on "Ry "1 —v. 7 invokes 1193 (like 0wTp) = (N97Y) Npvn is InvN
2 Challenge: v. 3 1m9aRn R 91981 = perhaps (7921 2590 n1nv) would only apply to meat that is otherwise edible;
(a) Extension: to Ypoin 1w and novy ny from v. 8 (a5n 93)
(b) Explanation: if navIy n%y is 11V, no need for a special Nw17 to render its fat 7100
(c) Answer: that is addressing a case where it wasn’t properly processed — it was vnwi
(i) Challenge: no'nw should remove the stigma of n%13
(if) Answer: navIy Ny is already classified as such while alive (= nRina NMoR)
(iii) Note (’8227): had a tradition about the point at which it becomes n&ina 17oR — forgotten
1. Answer (from w7710 1173): from point when it is lowered to jr°x 5n1 (for nary)
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